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)

12014
0.8m3[ 0.6m3]

]

43.43

37.88

37.88

18.69

,2  4KL

18.69

1] =1

[J2] = 1

50,000
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0.8m3(  0.6m3) m3
(15.5km  DID « )
Q) ()
45.59
[ 1
10t
45.59
39.52
39.52
14.89
.2 AKL
14.89
L 1
[01] = 1 [32] = 1 0.8m3(  0.6m3)
[J3] = 1 ( ) [041=1 DI DID
[J5] = 13 15.5km
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:3
[ 1
[Al=1 [yi] =1
[B] = 2 [C]= 1
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0.8m3( 0.6)
3
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[A] = 4 [yl = 4
[B] = 3 [c1=1
[x1] = 4 3
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[
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=AYk 11
ERTHEMEER AREL

ABFT KEEIRIER L=3.0m

BER KEEIRIER L=40m
CEM KFEIBER L=2.7m

O
o
EID_{
u}u

KEEIHER L=5.3m
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op

TE5EE



ERER

<IEHER7 FiRZ-EF>
I &R 51 g By | BE |[FLHHE e
AT
fEEIT yEAl MEt m3 21.7 20
EtT (R #EL LB+ m3 2.3 2
EEERIEmER (BT m2 49 5
R ALE T T HEER- LS m3 36.7 40
EEERT
EEETT |KIE MEL m3 347 30
HR IL—=X m3 16.6 20
HEMET BT £ 250cm m 12.6 13
avy)—rJays I (avy)—rIavoiE)
W)y EE F12E1:0.448 % 50cm m2 29.1 29
HEEM B|ER5~15cm m3 7.7 8
Xigaro)—k 0 ck=18N/mm2 m 12.6 13
FiA-ZAH (FH)|RC-40 m3 13.8 14
MhOlkT 15/h0OLk ERT 1.0 1
25/hA1k &7 3.0 3
35/hALE ERT 1.0 1
45/hO1k &7 2.0 2
58/hALk ERT 1.0 1
#T TYDIFIT HWRHE m2 127 13
BEMREIERLET RIER m3 0.5 05
A5y t 1.2 1.0
REET
IEMAERT
ITERAEREL |BL%147 W=40m m 74.0 74
TR (BAL) m3 679.1 680
BRIARE T m3 510.6 510
bR W=3.0m,RC-40,t=10cm m2 222.0 222
Bk W=3.0m,t=22mm m 36.0 36
BHBRRERE m2 108.0 108
BERRE N ® 240 24
Bk AR E t 19.2 19.2
KL WET T REER- 0 m3 532 |BEbFIZET510+22
TE-R#HTT
Tmn5 RELOS8E-FE-HE| = 6.8 7
REEYIT ZRRET ¢ 400 m 73.3 73 |G IS REESOmED
K&EZI
R THEK RUTHRE-HE T 20 2
R T &g Ve BFHEK =]
BISRAFyI0ET
BE7 7&K TD5% ] 1.0 1
B2 5505 2.1kg/%& % 6.8 7




1 HELFR

<IEBERHD: FR-EF>
IfE Al A1 g Bify | AFT | BEFT | CERT | DERT | #HE w5
AT
1A T 1EAI ME+ m3 5.9 7.6 47 35 21.7
BtT (E3R) Bt L¥EL m3 0.4 09 0.3 0.7 2.3
FEERIEEER (R m2 3.6 1.3 49
KT OET TREER- LS m3 36.7
EREERT
FEXTT |KIE ME+ m3 7 9.3 62 | 122 34.7
HER =X m3 34 44 3.0 58 16.6
HEfT HEBT {22 50cm m 24 34 2.1 47 12.6
avy)—rJays T (avy)—rIJayoiE)
W97 oyhiE F2E1:0.44% Z2.50cm m2 6.1 9.1 48 9.1 29.1
hEEM B|EHR5~15cm m3 16 24 13 24 7.7
Xifaro)—k | ock=18N/mm2 m 24 34 2.1 47 12.6
A -EiAH (FR) | RC-40 m3 29 44 23 42 138
NaOlkT 185/hA1E ERT 1 1.0
25/hALtk ERT 1 1 1 30
35/hALtk ERT 1 1.0
48/h0OL ERT 1 1 20
585/hALk ERT 1 1.0
T $YDI+T EwaiE m2 34 75 18 12.7
BEET ERNET R IE m3 0.5 05
A5 t 1.2 12
fRE& T
TEREBT
IEFAERELT (L2247 W=40m m 740
TR (BAL) m3 679.1
(BBAL)EHRE m3 567.3
AL m3 510.6
B F W=3.0mRC-40t=10cm | m2 2220
AR W=3.0m,t=22mm m 36.0
BSIRRERE m2 108.0
kiR & # M 240
Bk AR E t 19.2
KT NET REER- O m3 532.8 |BBFEED
T EETT
D5 RETOS8E-BE-HE| R 34 34 6.8
{RiwEI T ZERET 400 m 41 323 73.3 |AGFIIEAEBSOEmE
KE&EZT
R THEK RUOTHRE - HE AT 1 1 20
R T iEEx e BHEK =] 11.0
BISAFYIMET
&7 5 & Tn5% B 1 1 1.0 |EHfkIE1EIDH
BT 5805 2.1kg/%¥ S 34 34 6.8




T ER SR

{EHI T Bt T
IEH R = wEMLTE pig | 1IEH Ed] T= it
2.6 X 0.9 = 23 2 L¥E L+ 2.3
HEHI VYEE 217 > 93
EELT wEMLTE Eix EELT
HH gl L= 16.6 X 1.0 = 16.6 HE 27 = B
> 1E = 16.6 16.6
PR1E L¥E L 34.7
AHERURL
IEH R 2
21.7 - 2.6 - 0.5 18.6 XL (KIE) &t
HE Al 0.5 SEEET = 186
34.7 - 16.6 = 18.1 PR1E 18.1 36.7
TEHaE REAE (RETE)
BALIZCL) e Ets
679.1 BAL 510.6
A L GEHR) BAL 510.6 »a 22.2
567.3 > |B#& 222 >
&E 532.8 &t 532.8

Tz

il

N

il

ZE{



3AKRTI HEHESE

3-1. AEFr
N fEHI(EE L) PRI BRL
e | ER c E Fu
WrEiE | TS I | HEE | B I | HEE | B IfE
SECT 0.0 2.5 2.3 1.1
SECT 1.5 15 1.7 2.10 3.2 23| 230 3.5 1.1 1.10 1.7
SECT 3.0 15 1.9 1.80 2.7 23| 230 3.5 1.1 1.10 1.7
Hi 3.0 5.9 7.0 34
EEELE Et
s | A K B
(m)
5] T miE | HEE | B &
SECT 0.0 0.8 0.1
SECT 1.5 15 08| 080 1.2 0.1 0.10 0.2
SECT 3.0 15 08| 080 1.2 02| 015 0.2
HJ 3.0 24 0.4
Jav i EARR
s | R sL Gv
(m)
RS T miE | EE | TH I
SECT 0.3 2.8 1.3
SECT 1.5 1.2 2.6 2.70 3.2 1.2 1.25 15
SECT 2.7 1.2 23| 245 2.9 1.1 1.15 1.4
Hi 2.4 6.1 2.9
N $YDITT
| EE ()
ER Ty miE
SECT 3.0 2.8
+05 0.5 28| 280 1.4
+1.3 1.4 0.0 1.40 2.0
Hi 1.9 3.4




L= (EREE&LY)
V= (BEuHEHEELY)

L= (EREE&LY)
V= (BEuHEHEELY)

hEE# (BIEER 5~15cm)

V= 6.1 x0.265
15/hAOLT
avyl)—k V= (BEuHEEHEELXY)
—hR B A= (BEHBEHEELXY)
ERER 42 A= (BEHBEEHEELXY)
25/hA1ET
avoy)—k V= (BEIHEFHEELY)
—hR B A= (BREIHEFHEELY)

R B A= (BRHEFHEELY)

1 n 2

24
0.33

24
0.06

1.6

1.0
0.89
6.05
0.82

1.0
0.75
5.14
0.69

m3

m3
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3-2. BEFR
N Al (EE 1) PRYE BRL
e | ER c E Fu
WrEiE | TS I | HEE | B I | HEE | B IE
SECT 12.0 2.7 2.3 1.1
SECT 140| 20 1.2 1.95 39 23| 230 46 1.1 1.10 2.2
SECT 16.0| 20 2.5 1.85 3.7 24| 235 4.7 1.1 1.10 2.2
Hi 4.0 76 9.3 4.4
i HEEB4E Bt EEBE
e | EE K B (B 80)
5] T miE | HEE | B g & 15 miE
SECT 12.0 0.8 0.4 1.4
SECT 140 | 20 08| 080 1.6 02| 030 0.6 0.9 1.15 2.3
SECT 16.0| 20 08| 080 1.6 0.1 0.15 0.3 04| 065 1.3
Hi 4.0 3.2 0.9 3.6
. Jnviois RiARA
e | EE sL Gv
RS T miE | EE | TH I
SECT 12.3 2.3 1.1
SECT 140 | 1.7 27| 250 4.3 1.3 1.20 2.0
SECT 15.7| 1.7 30| 285 4.8 15 1.40 2.4
Hi 34 9.1 4.4
N $YDITT
| EE ()
ER Ty [k
-1.7 0.0
-05 1.2 2.8 1.40 1.7
SECT 120| 05 28| 280 1.4
SECT 16.0 34
+05 0.5 34| 340 1.7
+2.1 16 0.0 1.70 2.7
Hi 38 75




L= (EREE&LY)
V= (BEuHEHEELY)

L= (EREE&LY)
V= (BEuHEHEELY)

hEE# (BIEER 5~15cm)

V= 91 x0.265
25/O1tT
avy)—k V= (BEuHEEHEELXY)
—hR B A= (BEHBEHEELXY)
ERER 42 A= (BEHBEEHEELXY)
3&/hA1ET
avyl)—k V= (BEIHEFHEELY)
—hR B A= (BREIHEFHEELY)

R B A= (BRHEFHEELY)

1 n 2

3.4
0.46

3.4
0.09

24

1.0
0.75
5.14
0.69

1.0
0.96
6.51
0.89

m3

m3
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3-3. CEFR
N fEHI(EE L) PRI BRL
Al = %Ef;‘ C E Fu
WrEiE | TS I | HEE | B I | HEE | B IE
SECT 43.0 1.8 2.3 1.1
SECT 440| 1.0 1.3 1.55 1.6 2.3 2.30 2.3 1.1 1.10 1.1
SECT 45.7 1.7 2.3 1.80 3.1 2.3 2.30 3.9 1.1 1.10 1.9
& 2.7 47 6.2 3.0
. HREBLE Bt EEBE
e | EE K B (B 80)
5] T miE | HEE | B g B 15 miE
SECT 43.0 0.8 0.1 05
SECT 440| 1.0 08| 080 0.8 0.1 0.10 0.1 05| 050 05
SECT 45.7 1.7 08| 080 1.4 0.1 0.10 0.2 04| 045 0.8
H 2.7 2.2 0.3 1.3
i Jovyis EARR
)= %Ef? SL Gv
RS T miE | EE | TH I
SECT 43.3 2.3 1.1
SECT 440 | 0.7 2.3 2.30 1.6 1.1 1.10 0.8
SECT 454 | 14 2.2 2.25 3.2 1.0 1.05 15
Hi 2.1 48 2.3
HEBET
L= (REARXKY) = 21 m
V= (BEBEFHEELY) = 0.29 m3
Xim LT
L= (REARXKY) = 21 m
V= (BuUHEFFEELY) = 0.05 m3
it (BIEER 5~15cm)
V= 48 %0265 = 1.3 m3
25/ AO1tT N= 1.0 &HFfr
avo)—k V= (BuUHEFEELY) = 0.75 m3
— AR A= (BEHBEFHEELY) = 514 m2
{E A B 4% A= (BUUHEFEELY) = 0.69 m3
48/hO1LT N= 1.0 &R
avo)—k V= (BuUHEFEELY) = 0.69 m3
— AR A= (BEBEFHEELY) = 470 m2
{E A B 4% A= (BEBEFHEELY) = 0.63 m3
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3-4. D&FT
N Rl (E 1) PRYE BRL
Bl %Ef‘;‘ C E Fu
BrEiE | Y MR | MiEE | F vt B | T8 vt
SECT 53.0 1.0 2.3 1.1
SECT 560| 3.0 0.2 0.60 18 2.3 2.30 6.9 1.1 1.10 33
SECT 58.3| 23 1.3 0.75 1.7 2.3 2.30 5.3 1.1 1.10 2.5
it 53 35 122 58
N HEmEs ®t
s | EH K B
(m)
B T mE | WEE | TH TE
SECT 53.0 0.8 0.2
SECT 560| 3.0 0.8 0.80 24 0.1 0.15 05
SECT 58.3| 23 0.8 0.80 1.8 0.1 0.10 0.2
it 5.3 42 0.7
N Javoia EARA
5 fff';‘ sL Gv
E<& T miE | WEE | TH TE
SECT 53.3 1.8 0.8
SECT 560 | 2.7 1.9 1.85 5.0 0.9 0.85 2.3
SECT 580 | 20 2.2 2.05 41 10| 0.5 19
&t 47 9.1 42
N ER)ely s
e | EH (B
m)
ER T [k
-15 0.0
-05 1.0 18 0.90 0.9
SECT 533| 05 18 1.80 0.9
&t 15 18
EBET
L= (REAR&KY) = 47 m
V= (BfI#HEHEELY) = 0.64 m3
K T
L= (BRRARKY) = 47 m
V= (BI#EFHEELY) = 0.12 m3
hEEM (BIER 5~15cm)
V= 9.1 X0.265 = 2.4 m3
42/O1tT N= 1.0 &HFr
av9)—k V= (BEHESHHEELY) = 0.69 m3
— R A= (HfI#ESHEELY) = 470 m2
([ ik A A= (BHEFHHEELY) = 0.63 m3
58/ 01T N= 1.0 @fr
avy)—tk V= (BfI#HEHEELY) = 0.60 m3
— AR A= (BHEFHHEELY) = 416 m2
L[ igilk = A= (BHfI#EHEELY) = 0.55 m3
BHEEBUEL
V=1.3x1.0%0.35 = 05 m3
t
W= = 12t
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HRET HEEHSHEE 100 m&y
ke
e avoy—+t
' 5100 k=18N/mm2
\\ 40 - L o ck= mm
\ \
\
: S
\
\ o
\ 3
S
l =
100 550 100
ME/IRE STER Hi BHAHE #HE
avsy—k {1/2 % (0.100+0.550) X (0.350-0.100)+0.550 % 0.100}
0 ck=18N/mm2 x10.0 m3 1.363 1.36
iy
(0.350+0.100) x 10.0 m2 4.500 450
M

RC-40, t=10cm 0.750 % 10.0 m2 7.500 7.50




EBERT

BUREHES

100 m3y

/BRI ==Xy} H=
Kimaro)—k
0 ck=18N/mm2 0.500 X 0.100=2 X 10.0 m3 0.25
EE=ik
0.100 X 10.0 m2 1.00




FEERT

15/hAOLET HuUREHEE 1.0 ERTEY
300 539

3000
2550
2451

j%** R
=17 10 &FRr

ME/ B HER Bi BEuAHE #HE
avo)—k {0.539 X 0.093 = 2+(0.862+1.107) X 2.457 =2+
0 ck=18N/mm?2 (1.207+1.069) =2 % 0.450} X 0.300 m3 0.887 0.89
il {0.539 X 0.093 = 2+(0.862+1.107) X 2.457 2+
— AR (1.207+1.069) =2 X 0.450} x 2+

0.450 x 0.300 m2 6.047 6.05

il 2.746 % 0.300
b FEE 2 m2 0.824 0.82




FEERT

25/hALT HUHEHEE 10 BEfTHY
300 539

2600
2150
2057

o%*** o
=17 30 &FR
ME/ B FER B Bz H=
avo)—k {0.539 % 0.093 - 2+(0.862+1.067) X 2.057 — 2+
0 ck=18N/mm?2 (1.167+1.032) =2 x 0.450} x 0.300 m3 0.751 0.75
il {0.539 % 0.093 +2+(0.862+1.067) X 2.057 — 2+
— AR (1.167+1.032) <2 X 0.450} x 2+
0.450 x 0.300 m2 5.143 5.14
B 2.316 % 0.300
b FEE 2 m2 0.695 0.69




FEERT

38/hALT HANHETEE 10 EHRTHY
ﬂ 539
j%w~f R
=17 10 &FRr
ME/ B FER Bi BEuAHE #HE
avo)—k {0.539 x 0.093 = 2+(0.862+1.127) X 2.657 — 2+
0 ck=18N/mm?2 (1.227+1.092) =2 X 0.450} X 0.300 m3 0.957 0.96
il {0.539 X 0.093 = 2+(0.862+1.127) X 2.657 2+
— AR (1.227+1.092) <2 X 0.450} x 2+
0.450 x 0.300 m2 6.513 6.51
B 2.962 x 0.300
b FEE 2 m2 0.889 0.89




FEERT
45/h0O1ET HuHESiEE 1.0 BfrHY

300

1950
1857

2400

j% — o
=17 20 &FRr
ME/ B FER B Bz H=
avo)—k {0.539 x 0.093 = 2+(0.862+1.047) X 1.857 =2+
0 ck=18N/mm?2 (1.147+1.012)<2 % 0.450} x 0.300 m3 0.685 0.69
il {0.539 % 0.093 +-2+(0.862+1.047) X 1.857 — 2+
— AR (1.147+1.012)<2 X 0.450} x 2+
0.450 x 0.300 m2 4.702 4.70
B 2.100 x 0.300
b FEE 2 m2 0.630 0.63




EBEEFET

58/ AT HANHETEE

10 &

sy

300 539

o)
=¥,
Lo}
D r“"
ol = 3
I—D —
o~
] [ ]
Ly Ly
== ==
987
I
=17 10 &FRr
ME/ B HER Bi BEuAHE #HE
avo)—k {0.539 x 0.093 = 2+(0.862+1.022) X 1.607 =2+
0 ck=18N/mm?2 (1.122+0.987)=2 x 0.450} X 0.300 m3 0.604 0.60
il {0.539 x 0.093 = 2+(0.862+1.022) X 1.607 2+
— AR (1.122+0.987)=2 X 0.450} x 2+
0.450 x 0.300 m2 4.162 416
B 1.831 X 0.300
[ iy = m2 0.549 0.55




4T HEFHES

TERER

ITEREREL
L= (FtTERELY) = 740 m
V= 74.0%6.9 (HBERLY) = 5106 m3

RV F| (W=3.0m, t=10cm, RC-40)
L= (FtTER®ELY) = 740 m
A= 740%30 = 2220 m2
V= 222.0%0.1 = 222 m3

B 8% AR (W=3.0m. t=22mm)
L= (FtTERELY) = 36.0 m
A= 36.0%x3.0 = 1080 m2
N= 108.0 < (3.048 x 1.524) = 240 &
W= 240 x0.802 = 192 t



